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NEW QUESTION 1
- (Exam Topic 1)
Which of the following data model are included In the Splunk Common Information Model (CIM) add-on? (select all that apply)

A. Alerts
B. Email
C. Database
D. User permissions

Answer: ABC

NEW QUESTION 2
- (Exam Topic 1)
Given the macro definition below, what should be entered into the Name and Arguments fileds to correctly configured the macro?

A. The macro name is sessiontracker and the argument are action, JESSION.
B. The macro name is sessiontracker (2) and the action JESSIONID
C. The macro name is sessiontracker and the argument are sectional ,$ JESSIONIDS.
D. The macro name is sessiontracker (2) and the argument are $action ,$JESSIONIDS.

Answer: B

NEW QUESTION 3
- (Exam Topic 1)
Which of the following Statements about macros is true? (select all that apply)

A. Arguments are defined at execution time.
B. Arguments are defined when the macro is created.
C. Argument values are used to resolve the search string at execution time.
D. Argument values are used to resolve the search string when the macro is created.

Answer: AC

NEW QUESTION 4
- (Exam Topic 1)
Which of the following is the correct way to use the data model command to search field in the data model within the web dataset?

A. | datamodel web search | filed web *
B. | Search datamodel web web | filed web*
C. | datamodel web web field | search web*
D. Datamodel=web | search web | filed web*

Answer: A

NEW QUESTION 5
- (Exam Topic 1)
Which of the following statements describe calculated fields? (select all that apply)

A. Calculated fields can be used in the search bar.
B. Calculated fields can be based on an extracted field.
C. Calculated fields can only be applied to host and sourcetype.
D. Calculated fields are shortcuts for performing calculations using the eval command.

Answer: BD
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NEW QUESTION 6
- (Exam Topic 1)
Which of the following statements is true, especially in large environments?

A. Use the scats command when you next to group events by two or more fields.
B. The stats command is faster and more efficient than the transaction command
C. The transaction command is faster and more efficient than the stats command.
D. Use the transaction command when you want to see the results of a calculation.

Answer: B

NEW QUESTION 7
- (Exam Topic 1)
Which of the following statements describe GET workflow actions?

A. GET workflow actions must be configured with POST arguments.
B. Configuration of GET workflow actions includes choosing a sourcetype.
C. Label names for GET workflow actions must include a field name surrounded by dollar signs.
D. GET workflow actions can be configured to open the URT link in the current window or in a new window

Answer: D

NEW QUESTION 8
- (Exam Topic 1)
What is the relationship between data models and pivots?

A. Data models provide the datasets for pivots.
B. Pivots and data models have no relationship.
C. Pivots and data models are the same thing.
D. Pivots provide the datasets for data models.

Answer: D

NEW QUESTION 9
- (Exam Topic 1)
Which of the following searches will return events contains a tag name Privileged?

A. Tag= Priv
B. Tag= Priv*
C. Tag= Priv*
D. Tag= Privileged

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
Calculated fields can be based on which of the following?

A. Tags
B. Extracted fields
C. Output fields for a lookup
D. Fields generated from a search string

Answer: B

NEW QUESTION 10
- (Exam Topic 1)
After manually editing; a regular expression (regex), which of the following statements is true?

A. Changes made manually can be reverted in the Field Extractor (FX) UI.
B. It is no longer possible to edit the field extraction in the Field Extractor (FX) UI.
C. It is not possible to manually edit a regular expression (regex) that was created using the Field Extractor (FX) UI.
D. The Field Extractor (FX) UI keeps its own version of the field extraction in addition to the one that wasmanually edited.

Answer: D

NEW QUESTION 11
- (Exam Topic 1)
Based on the macro definition shown below, what is the correct way to execute the macro in a search string?
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A. Convert_sales (euro, €, 79)”
B. Convert_sales (euro, €, .79)
C. Convert_sales ($euro,$€$,s79$
D. Convert_sales ($euro, $€$,S,79$)

Answer: B

NEW QUESTION 16
- (Exam Topic 1)
Which of the following statements about tags is true?

A. Tags are case insensitive.
B. Tags are created at index time.
C. Tags can make your data more understandable.
D. Tags are searched by using the syntax tag: : <fieldneme>

Answer: C

NEW QUESTION 18
- (Exam Topic 1)
What is the correct syntax to search for a tag associated with a value on a specific fields?

A. Tag-<field?
B. Tag<filed(tagname.)
C. Tag=<filed>::<tagname>
D. Tag::<filed>=<tagname>

Answer: D

NEW QUESTION 21
- (Exam Topic 1)
Which of the following file formats can be extracted using a delimiter field extraction?

A. CSV
B. PDF
C. XML
D. JSON

Answer: A

NEW QUESTION 22
- (Exam Topic 1)
The Field Extractor (FX) is used to extract a custom field. A report can be created using this custom field. The created report can then be shared with other people
in the organization. If another person in the organization runs the shared report and no results are returned, why might this be? (select all that apply)

A. Fast mode is enabled.
B. The dashboard is private.
C. The extraction is private
D. The person in the organization running the report does not have access to the index.

Answer: BD

NEW QUESTION 23
- (Exam Topic 1)
When should you use the transaction command instead of the scats command?

A. When you need to group on multiple values.
B. When duration is irrelevant in search result
C. .
D. When you have over 1000 events in a transaction.
E. When you need to group based on start and end constraints.
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Answer: C

NEW QUESTION 26
- (Exam Topic 1)
Selected fields are displayed ______ each event in the search results.

A. below
B. interesting fields
C. other fields
D. above

Answer: A

NEW QUESTION 31
- (Exam Topic 1)
What do events in a transaction have In common?

A. All events In a transaction must have the same timestamp.
B. All events in a transaction must have the same sourcetype.
C. All events in a transaction must have the exact same set of fields.
D. All events in a transaction must be related by one or more fields.

Answer: B

NEW QUESTION 34
- (Exam Topic 1)
What are the two parts of a root event dataset?

A. Fields and variables.
B. Fields and attributes.
C. Constraints and fields.
D. Constraints and lookups.

Answer: C

NEW QUESTION 37
- (Exam Topic 1)
Data model fields can be added using the Auto-Extracted method. Which of the following statements describe Auto-Extracted fields? (select all that apply)

A. Auto-Extracted fields can be hidden in Pivot.
B. Auto-Extracted fields can have their data type changed.
C. Auto-Extracted fields can be given a friendly name for use in Pivot.
D. Auto-Extracted fields can be added if they already exist in the dataset with constraints.

Answer: B

NEW QUESTION 41
- (Exam Topic 1)
When using timechart, how many fields can be listed after a by clause? ( Choose Two )

A. because timechart doesn't support using a by clause.
B. because _time is already implied as the x-axis.
C. because one field would represent the x-axis and the other would represent the y-axis.
D. There is no limit specific to timechart.

Answer: BD

NEW QUESTION 42
- (Exam Topic 1)
Which of the following statements describes Search workflow actions?

A. By defaul
B. Search workflow actions will run as a real-time search.
C. Search workflow actions can be configured as scheduled searches,
D. The user can define the time range of the search when created the workflow action.
E. Search workflow actions cannot be configured with a search string that includes the transaction command

Answer: C

NEW QUESTION 47
- (Exam Topic 1)
Which of the following statements describes this search? sourcetype=access_combined I transaction JSESSIONID | timechart avg (duration)

A. This is a valid search and will display a timechart of the average duration, of each transaction event.
B. This is a valid search and will display a stats table showing the maximum pause among transactions.
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C. No results will be returned because the transaction command must include the startswith and endswith options.
D. No results will be returned because the transaction command must be the last command used in the search pipeline.

Answer: A

NEW QUESTION 50
- (Exam Topic 1)
When performing a regular expression (regex) field extraction using the Field Extractor (FX), what happens when the require option is used?

A. The regex can no longer be edited.
B. The field being extracted will be required for all future events.
C. The events without the required field will not display in searches.
D. Only events with the required string will be included in the extraction.

Answer: D

NEW QUESTION 54
- (Exam Topic 1)
What is required for a macro to accept three arguments?

A. The macro's name ends with (3).
B. The macro's name starts with (3).
C. The macro's argument count setting is 3 or more.
D. Nothing, all macros can accept any number of arguments.

Answer: A

NEW QUESTION 55
- (Exam Topic 2)
The gauge command:

A. creates a single-value visualization
B. allows you to set colored ranges for a single-value visualization
C. creates a radial gauge visualization

Answer: B

NEW QUESTION 60
- (Exam Topic 2)
What will you learn from the results of the following search? sourcetype=cisco_esa | transaction mid, dcid, icid | timechart avg(duration)

A. The average time elapsed during each transaction for all transactions
B. The average time for each event within each transaction
C. The average time between each transaction

Answer: A

NEW QUESTION 65
......
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